Run 4491 quartetwise, posHQ: Beam DH
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Run 4491 quartetwise, asym0Osub: Beam ON
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Run 4491 quartetwise, negHO: Beam DIN
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-------- Histogram Vars
Positive Hel (ON): -0.012841 +/- 0.000491
Negative Hel (ON): -0.012485 +/- 0.000491
Positive Hel (OFF): -0.009165 +/- 0.000482

Negative Hel (OFF): -0.008960 +/- 0.000482

-------- Sums and Diffs

On Diff: -0.000356 +/- 0.000190

Off Diff: -0.000205 +/- 0.000209

On Sum: -0.025326 +/- 0.000964

Off Sum: -0.018125 +/- 0.000941
-------- Asymmetries

On Asym: 49.450252 +/- 27.918688 (ppt)
Off Asym: 28.435446 +/- 29.547016 (ppt)
-------- Bkgd Subtraction
BkSub Sum: -0.007201 +/- 0.001347

BkSub Asym: 21.014805 +/- 40.650698 (ppt)



Run 4491 quartetwise, negHO vs time
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Run 4491 quartetwise, bcm vs time

Run 4491 quartetwise, asymQ0sub vs time
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